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Exam Date 17/11/2021
Exam Time : 9:00 AM - 10:30 AM
Subject [Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?
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Question ID : 65497831153
Status : Answered
Chosen Option : 1

Q.2 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.LOPK
X 2.EVIR
" 3. CXGV
X 4.HSLO

Question ID : 65497831133
Status : Answered
Chosen Option : 3
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Q.3 In a certain code language, 'NOTION' is coded as '13127181213'. How will 'BEAUTIFY"*
be coded in that language?

Ans o 1.2522266718212
< 2.2505016718212
< 3.2022266818222
X 4.2522268719215

Question ID : 65497831134
Status : Answered
Chosen Option : 1

Q.4 In a certain code language, KILOGRAM is written as LZQFNKHJ. How will AIRCRAFT
be written in that language?

Ans X 1.BSHZQEZB
X 2. ZHSBQZQH
" 3. SEZQBQHZ
X 4. SEZQHZBQ

Question ID : 65497831143
Status : Answered
Chosen Option : 3

Q.5 Select the option that is related to the third term in the same way as the second term is
related to the first term.

METHOD : OIZPYP :: NORMAL : ?
Ans 7 1. PSXUKX
2 2. PXSUXK
X 3. QRYVLY
X 4. PSXVLX

Question ID : 65497831142
Status : Answered
Chosen Option : 1

Q.6 Two different positions of the same dice are shown, the six faces of which are numbered from 1 to 6. Select the number

that will be on the face opposite to the face having '6".
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Question ID : 65497831140
Status : Answered
Chosen Option : 1
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Q.7 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some stars are planets.
Some planets are comets.

Conclusions:
. Some comets are planets.
1l. All stars are comets.

Ans  &# 1. Only conclusion | follows
25 2. Only conclusion Il follows
25 3. Both conclusions | and Il follow

& 4. Neither conclusion | nor Il follows

Question ID : 65497831150
Status : Answered
Chosen Option : 4

Q.8 Select the figure from among the given options that can replace the question mark (?) in the following series.
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Question ID : 65497831148
Status : Answered
Chosen Option : 4
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Q.9 Select the number from among the given options that can replace the question mark
(?) in the following series.

16,9, 27, 19, 76, 67, 335, ?
Ans X 1.650

o 2.325

X 3.415

X 4.90

Question ID : 65497831135
Status : Answered
Chosen Option : 4

Q.10 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

P_RQPS__P__Q_SR_P_RQ
Ans « 1. SRQSRPQS
# 2. SRSQRPQS
3. QRQSRPQS
7 4. SQQSRPQS

Question ID : 65497831146
Status : Answered
Chosen Option : 1

Q.11 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

UG, AE, GG, M|, SK, ?
Ans X 1.LM

o 2. YM
X 3.Y0
X 4. WN

Question ID : 65497831154
Status : Answered
Chosen Option : 2

Q.12 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth

number.
16:256::21:7?::19: 361
Ans o 1,441
X 2.324
X 3.422
X 4.484

Question ID : 65497831138
Status : Answered
Chosen Option : 1
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Ans X 1.T
X 2P
¢ 3.Q
X 4.R

Question ID : 65497831137
Status : Answered
Chosen Option : 3

Q.14 Two years ago, T was twice as old as P. P is thrice as old as R. In five years, P will be
29. What is the present age of T?

Ans X 1.42
< 2.48
X 3.44
o 4.46

Question ID : 65497831152
Status : /Answered
Chosen Option : 2

Q.15 select the correct mirror image of the given combination when the mirror is placed at the right side.

sXg5AY

" xAVeépxe
~YACpXe
«-+YAcpXxa
~~YAGpxe

Question ID : 65497831136
Status : Answered
Chosen Option : 3
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Ans .z 1 T
X 2.9
X 3. |
X 4. A8 w5

Question ID : 65497831144
Status : Answered
Chosen Option : 1
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Q.17 In a certain code language, ‘ABSTRACT’ is written as ‘IIlYYVDEU’. How will ‘INSTINCT’
be written in that language?

Ans X 1. QUYYNPEU
«" 2. OUYYMQEU
< 3. OUYYNQEU
X 4. QUYYPMEU

Question ID : 65497831149
Status : Answered
Chosen Option : 1

Q.18 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Creditor

2. Creature

3. Credible

4. Creditable
5. Credentials

Ans X 1.2,51,3 4
X 22,5431
& 3.2,53 4,1
X< 4.3,51,4,2

Question ID : 65497831145
Status : Answered
Chosen Option : 3

Q.19 Which of the given equations is correctly balanced if ‘A’ means ‘+’, ‘B’ means ‘-’, ‘C’
means ‘%’, and ‘D’ means ‘+’?

Ans X 1.66B2D54C18=135
X 2.45A5C7D14=77
o 3.45D5C7A14=77
X 4.66C2B54D18=135

Question ID : 65497831139
Status : Answered
Chosen Option : 3

Q.20 Select the number from among the given options that can replace the question mark
(?) in the following series.

240, 258, 278, 300, ?
Ans o # 1.324
52,312
#< 3.400
< 4.355

Question ID : 65497831147
Status : Answered
Chosen Option : 1
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Q.21 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

57 28 29
68 ? 33
72 37 35

Ans X 1.34
X 2.33
& 3.35
X 4.29

Question ID : 65497831151
Status : Answered
Chosen Option : 2

Q.22 ‘Complicated’ is related to ‘Simple’ in the same way as ‘Shrink’ is relatedto *_
Ans 1. Expand
& 2. Execute
/5 3. Shorten
5 4. Narrow

Question ID :'65497831155
Status : Answered
Chosen Option : 1

Q.23 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

Question ID : 65497831141
Status : Answered
Chosen Obtion : 3
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Q.24 Select the Venn diagram that correctly represents the relationship between the following classes.

Mothers. Fathers, Men

-0

Question ID : 65497831157
Status : Answered
Chosen Option : 2
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Ans X 1.E
X 2.F
o 3.A
X 4.D

Question ID : 65497831156
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge andiGeneral Awareness

Q.1 As per an announcement made by the Chairman of ISRO on 6 September 2021,
Chandrayaan-2 had completed revolutions of the Moon.

Ans 4 1.9000
X 2. 12000
X 3. 15000
< 4.11000

Question ID : 65497831180
Status : Not Answered
Chosen Option : --
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Q.2 Which country is regarded as the origin of SUMO Wrestling game?
Ans 1. Japan

25 2. Vietnam
25 3. Indonesia
X 4. South Korea

Question ID : 65497831161
Status : Answered
Chosen Option : 1

Q.3 Who is known as the 'Father of Microeconomics'?
Ans X 1. Paul Krugman

& 2. Milton Friedman
X 3. James J Heckman
" 4. Alfred Marshall

Question ID : 65497831178
Status : Not Answered
Chosen Option : --

Q.4 The Deputy Speaker of the Lok Sabha is removed from his office by:
Ans X 1.the order of the Vice-President of India

& 2. the order of the Comptroller and Auditor-General of India

«" 3. aresolution of the Lok Sabha passed by a majority of all the then members ofithe
Lok Sabha

25 4. the order of the Attorney-General for India

Question ID : 65497831169
Status : Answered
Chosen Option : 3

Q.5 CNG stands for which among the following?
Ans X 1. Cardiac nerve grid

#< 2. Coal and natural gases
¥ 3. Compressed natural gas

25 4. Chemically neutral gene

Question ID : 65497831171
Status : Answered
Chosen Option : 3

Q.6 Till which year was Bangladesh a part of Pakistan?
Ans X 1.1962

< 2.1974
o 3.1971
< 4.1956

Question ID : 65497831179
Status : Answered
Chosen Option : 3
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Q.7 Which of the following was NOT a Mesopotamian language?
Ans X 1.Elamite

25 2. Amorite
< 3. Akkadian
¥ 4. Sumerian

Question ID : 65497831177
Status : Answered
Chosen Option : 4

Q.8 Who among the following was instrumental in declaring Awadh a disturbed region
requiring it to be brought under British control?

Ans X 1. Lord Wellesley
" 2. Lord Dalhousie
2 3. Lord Canning
< 4. Lord Ripon

Question ID : 65497831173
Status : Answered
Chosen Option : 2

Q.9 How many seats did the Indian National Congress win at the Bihar Assembly Elections
held during October-November, 2020?

Ans X 1.22
X 2.15
% 3.10
o 4.19

Question ID : 65497831174
Status : Answered
Chosen Option : 4

Q.10 Which of the following is the Sl base unit for photometry — the science of measuring
light as perceived by the human visual system?

Ans X 1. Ampere
5 2. Mole
" 3. Candela
& 4. Kelvin

Question ID : 65497831165
Status : Answered
Chosen Option : 3

Q.11 In which of the following cities of India is the ‘Saptak Music Festival’ celebrated?
Ans  # 1. Ahmedabad

< 2. Lucknow
25 3. Bhopal
& 4. Amritsar

Question ID : 65497831158
Status : Answered
Chosen Option : 4
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Q.12 Who is the author of the book 'Two Lives'?
Ans X 1.VS Naipaul

25 2. Arvind Adiga
X 3. Salman Rusdie
" 4.V kram Seth

Question ID : 65497831160
Status : Not Answered
Chosen Option : --

Q.13 In August 2021, Prime Minister Narendra Modi announced that the Rajiv Gandhi Khel
Ratna Award would be renamed to

Ans X 1. Ekalavya Khel Ratna Award
X 2. Vijay Hazare Khel Ratna Award
2 3. Dronacharya Khel Ratna Award
«" 4. Major Dhyan Chand Khel Ratna Award

Question ID : 65497831182
Status : Answered
Chosen Option : 4

Q.14 With reference to India's freedom movement, which Prime Minister of Great Britain
announced the Communal Award in 1932?

Ans X 1. Neville Chamberlain
2. Sir Winston Churchill
< 3. Stanley Baldwin

& 4. James Ramsay MacDonald

Question ID : 65497831168
Status : Not Answered
Chosen Option : --

Q.15 In which city did the freedom fighter Chandrashekhar Azad shoot himself on being
besieged by the British police?

Ans X 1. Jabalpur
5 2. Kanpur
" 3. Allahabad
/4. Bhopal

Question ID : 65497831167
Status : Not Answered
Chosen Option : --

Q.16 The Kadam dam is located at the confluence of the Kadam river into
Ans X 1. Sharavati

" 2. Godavari
< 3. Kabini
& 4. Kaveri

Question ID : 65497831181
Status : Not Answered
Chosen Option : --
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Q.17 In November 2020, WhatsApp partnered with five Indian banks to process its payment
services. Which of the following banks is NOT one of the five banks in that list?

Ans X 1. Axis

4 2. Bank of India

& 3.HDFC

X 4. Jio Payments Bank

Question ID : 65497831175
Status : Answered
Chosen Option : 4

Q.18 According to APEDA report 2020 which Indian state has the highest percentage of
commercially cultivated floriculture?

Ans o 1. Tamil Nadu

< 2. Maharashtra

X 3. Karnataka

& 4. Madhya Pradesh

Question ID : 65497831159
Status : Answered
Chosen Option : 2

Q.19 When the caterpillar is ready to enter the next stage of its life cycle called , it
first weaves a net to hold itself.

Ans X 1.egg
«" 2. pupa
X 3. late cocoon

25 4. early cocoon

Question ID : 65497831164
Status : Answered
Chosen Option : 2

Q.20 India is ranked at the place in the ‘Climate Change Performance Index (CCPI)
2021’, which was released on 7 December 2020.

Ans o 1.10th
< 2.15th

X 3. 11th
X 4.20th

Question ID : 65497831170
Status : Answered
Chosen Option : 1

Q.21 Who among the following was awarded the 2020 Tyler Prize for Environmental
Achievement on 27 January 20207

Ans X 1.Partha S Dasgupta
4" 2. Pavan Sukhdev
X 3. Jyoti Parkh
& 4. Madhav Gadgil

Question ID : 65497831166
Status : Not Answered
Chosen Option : --
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Q.22 In which of the following states is the Yumthang Valley located?
Ans X 1. Uttarakhand

25 2. Himachal Pradesh
25 3. Nagaland
& 4. Skkim

Question ID : 65497831172
Status : Answered
Chosen Option : 4

Q.23 What is the ratio of money held by public in currency to that they hold in bank
deposits called?

Ans X 1. Reserve Deposit Ratio
#< 2. Cash Reserve Ratio
«# 3. Currency Deposit Ratio
< 4. Statutory Liquidity Ratio

Question ID : 65497831176
Status : Answered
Chosen Option : 4

Q.24 Who among the following dancers is best known for the renaissance of the
’Bharatnatyam’ dance form?

Ans X 1. Mallika Sarabhai
25 2. Yamini Krishnamurthy
4" 3. Rukmani Devi Arundale
< 4. Alarmel Valli

Question ID : 65497831163
Status : Answered
Chosen Option : 2

Q.25 The International Cricket Council (ICC) Board announced a minimum age policy for
International cricket in November 2020. As per the policy, a player must be at least
to play cricket globally.

Ans X 1.16 years old
¥ 2. 15 years old
25 3. 14 years old
2 4.13 years old

Question ID : 65497831162
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics
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Question ID : 65497831195
Status : Answered
Chosen Option : 1

(251)%+(249)%
5.1%25.1-624,99+24,9%X24.9

The value of 5 is 5 X 10%, where the value of k is:

Ans 21 4
X26
X3 3
X4 5

Question ID : 65497831192
Status : Answered
Chosen Option : 1

Q.3 A shopkeeper buys a table fan marked at 2,600 on 18% discount. He marked it for 2,800 and allows a 15% discount.

How much does he earn?

Ans X1 3420
X 23200
X 33220
4 2248

Question ID : 65497831183
Status : Answered
Chosen Option : 4

Q.4 Acando acertain work in 15 days. B is 10% less efficient than A, and C is 20% more efficient than A. All the three

work together for 3 days. The remaining work is completed by D alone in 9% days. D alone can complete the original

work in:

Ans X 1. 18 days
X 2. 15 days
« 3. 25 days
X 4. 20 days

Question ID : 65497831206
Status : Not Answered
Chosen Option : --
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Q.5 Pipes A and B can empty a full tank in 15 minutes and 20 minutes, respectively, while pipe C alone can fill the empty
tank in 8 minutes. If pipes A, B and C are opened together, then in how many hours will the tank be filled?

Ans X125
X2 15
3 2
x4 3

Question ID : 65497831194
Status : Answered
Chosen Option : 3

Q.6 A factory requires 56 machines to manufacture a given number of articles in 144 days. How many machines will be

required to produee the same number of articles in 96 days?
Ans 1. 53
2 84
X3 77
x4 8l

Question ID : 65497831190
Status :"/Answered
Chosen Option : 2

Q.7 The average height of 20 students of class 8 is 152 cm and the average height of 15 students of class 9 is 168 em. What
is the average height (to the nearest cm) of the students of both classes?

Ans 1. 159
X2 160
X 3. 157
X4 158

Question ID : 65497831189
Status : Answered
Chosen Option : 1

Q.8 Asum of 773,500 is divided among A, B, C and D in the ratio 3 : 7: 9 : 11, respectively. What is the sum of the shares
of Aand D?

Ans 1 334,300
X 2. 339,200
X 3. 324,500
X 4. 329,400

Question ID : 65497831184
Status : Answered
Chosen Option : 1

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

Q.9 Five years ago, the average age of A, B and C was 20 years. Six years ago, the average age of B and C was 9 years.
What will be the age (in years) of A 3 years from now?

Ans X 1. 4]
o 2. 48
X3 45
x4 47

Question ID : 65497831203
Status : Answered
Chosen Option : 2

Q.10 The difference between the height and the radius of a solid cylinder is 23 cm. The total surface area of the cylinder is

1628 cm?. The height and the radius of the cylinder, respectively, are (take T = ? ):

Ans X 1. 33¢cm, 10 cm
2 30cm. 7 cm
23 32cm, 09 cm

X4 28cm. 5Scm

Question ID : 65497831201
Status : Not Answered
Chosen Option : --

Q.11 The number of years taken for a sum of 5,000 to become 5,832 at a rate of 16 % per annum compounded half yearly,
will be:

Ans X 1. 1.5 years
X2 = year
2
X 3. 2vyears

4. 1 year

Question ID : 65497831200
Status : Answered
Chosen Option : 4

Q.12 If 25% of x is 40 less than 30% of (x + 60), then 35% of (x — 40) is what percentage more than 120?
Ans

@ 165%
X2 20%
x3. 12%%

X4 25%

Question ID : 65497831205
Status : Not Answered
Chosen Option : --
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Ans 1. 37
X2 23
X3 22
X 4. 30

Q.13 What is the least number added to 2483 so that it is completely divisible by 3, 4. 5 and 6?7

Question ID : 65497831197
Status : Answered
Chosen Option : 1

Ans 1 %
X1 ?E minutes

x 3 3§ minutes

x4 5§ minutes

o 2 f-% minutes

Q.14 How many minutes will Radha take to cover a distance of 1950 m, if she runs at a speed of 26 kim/h?

Question ID : 65497831196
Status : Answered
Chosen Option : 2

Ans 1. Af
<2 146
X3 506
X 4. 253

Q.15 Two numbers are in the ratio 9 : 11. If their HCF is 23, then the difference of the two numbers is:

Question ID : 65497831188
Status : Answered
Chosen Option : 1

the same rate?

Ans X 1. 30
2. 24
<3 35
X4 28

Q.16 A certain sum of money doubles itself in'6 years. How much time (in years) will it take to become five times of itself at

Question ID : 65497831191
Status : Answered
Chosen Option : 1
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Q.17 Atrain can cross a tunnel of length 600 m in 54 seconds. and it can cross a 350 m long bridge in 36 seconds. Which of
the following statements is/are correct?
(i) The speed of the train is 60 km/h.
(ii)  The length of the train is 150 m.

Ans 1. Only statement (ii)
X 2. Only statement (i)
& 3. Neither statement (i) nor (ii)

X 4. Both statements (i) and (ii)

Question ID : 65497831207
Status : Not Answered
Chosen Option : --

Q.18 A man bought two mobiles phones for 50,000. He sold one of them at a profit of 15% and the other at a loss of 20%. If
the selling price of each mobile is the same, what is the approximate cost price (to the nearest rupee) of the mobile that

was sold at a loss?

Ans X1 27,368
X 2. 25,465
« 3. 20487
X 4. 20,513

Question ID : 65497831186
Status : Not Answered
Chosen Option : --

Q.19 A man lent out T14.000 at 5% and 19,000 at 6% simple interest per annum. His total income (in T) from the interest in

S
Ans X1, 3,420
X2 2,100
X 3. 5445
4 5,520

Question ID : 65497831187
Status : Answered
Chosen Option : 4

Q20 1fX is 12.25% more than Y, then Y is approximately  less than X.
Ans x4 304

« 2. 10.9%

X3 12%

X4 15.6%

Question ID : 65497831198
Status : Not Answered
Chosen Option : --
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Q.21 Raghu bought some pens at the rate of 12 for 100 and an equal number of pens at 15 for T135. How many pens should

he sell for 260, so as to make a profit of 20%?
Ans 3T 1. 2()
X2 30
X3 24
4 25

Question ID : 65497831202
Status : Not Answered
Chosen Option : --

Q.22 A person bought a rectangular piece of land whose length and breadth are in the ratio 7 : 5.
land is ¥2,880 at the rate of T15/m, then what is the length of the land?

Ans 1. 56m
<2 40 m
X3 p0m
X4 84m

If the cost of fencing the

Question ID : 65497831185
Status :'Not Answered
Chosen Option : --

Q.23 The ages of two persons P and Q are in the ratio 5 : 7. Eight vears ago, the ratio of P and Q was 7: 13. The present ages

of P and Q, respectively, are:

Ans 1. 15 and 21 years
X 2. 20 and 28 years
X 3. 21 and 15 years
X 4. 12 and 13 years

Question ID : 65497831199
Status : Answered
Chosen Option : 1

Q.24 By selling an article for T1800, triple the profit is obtained than the profit that would have been obtained by selling it for

T1350. The cost price (in T) of the article is:

Ans X' 1. 1200
« 2. 1125
X 3. 1250
X4 1175

Question ID : 65497831193
Status : Answered
Chosen Option : 1
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Q.25 The marked price of an article is T550. It is sold for T317.90, after giving three successive discounts of 15%, x % and

20% on its marked price. If it is sold by giving a single discount of 2 x %, then its selling price (in ) will be:
Ans X 1. 440
+ 2. 385
< 3. 495
X4 484

Question ID : 65497831204
Status : Not Answered
Chosen Option : --

Section : Part D English

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The report said that / people who are eat meat / are at a higher risk / of fractures.
Ans X 1. are at a higher risk

" 2. people who are eat meat
& 3. of fractures
5 4. The report said that

Question ID : 65497831214
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate synonym of the given word.
Imperial
Ans X 1. Paternal
" 2. Sovereign
X 3. God-fearing
5 4. Ancestral

Question ID : 65497831223
Status : Answered
Chosen Option : 4

Q.3 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

| am sure that Vasu is not going to returned the money that he owes you.
Ans o 1.returned
& 2. 1am sure
25 3. he owes you
< 4. not going to

Question ID : 65497831222
Status : Answered
Chosen Option : 1
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Q.4 Select the correctly spelt word.
Ans X 1. Continuosly

25 2. Contenuously
+#" 3. Continuously

X 4. Contenewosly

Question ID : 65497831211
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option to fill in the blank.

From these findings, we can that the rate of crime is increasing in the city.

Ans X 1. presuppose
& 2. infer

X 3. summarise

& 4. presume

Question ID : 65497831225
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate meaning of the given idiom.

Down in the dumps
Ans X 1.In a high spirit

" 2. In a depressed state of mind
25 3.In a state of fury

5 4.1n a very happy mood

Question ID : 65497831221
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate synonym of the given word.

Monotonous
Ans X 1. Modified

& 2. Varied

4" 3. Boring
X 4. Fluctuated

Question ID : 65497831216
Status : Answered
Chosen Option : 3
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Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Angad says that / he follows / his exercise regimen strictly / and that helping to him
stay fit.
Ans X 1. his exercise regimen strictly

25 2. Angad says that
< 3. he follows
" 4. and that helping to him stay fit

Question ID : 65497831215
Status : Answered
Chosen Option : 4

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

Delay an event to a later date or time
Ans 4 1. Postpone

X 2. Prepone

X 3. Preserve

X 4. Persevere

Question ID : 65497831220
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option to fill in the blank.
The shops at the Indian airports haveto __ prices in Indian rupees.
Ans 1. display
& 2. convert
5 3. trace

X 4. tag

Question ID : 65497831208
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

If she likes the scenery, she will paint it.
Ans  # 1. No substitution‘required
X 2. If she like
25 3. If she had | ked
& 4. If she is liking

Question ID : 65497831209
Status : Answered
Chosen Option : 1
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Q.12 Select the most appropriate option to fill in the blank.

Besides having a good academic record, it is important that you learn how to face an
interview with and self-confidence.

Ans X 1. counsel
o 2. ease

5 3. experience

X 4. adaptation

Question ID : 65497831212
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate option that can substitute the underlined word in the
given sentence.

He became the first Indian to be invited to perform at the advantageous Maple Theatre
in Canada.

Ans  # 1. prestigious
X 2. inauspicious
25 3. heterogeneous

25 4. multifarious

Question ID : 65497831213
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate ANTONYM of the given word.

Enthusiasm
Ans X 1. Excitement

o 2. Lethargy
/5 3. Passion
#5 4. Devotion

Question ID : 65497831226
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate meaning of the given idiom.
To get out of hand
Ans X 1.To lose courage
/< 2. To act irrespons bly
«# 3. To become uncontrollable

X 4. To be indecisive

Question ID : 65497831210
Status : Answered
Chosen Option : 3
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Q.16 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

I have never see anything like this before.
Ans X 1. never saw anything
¥ 2. never seen anything
25 3. never saw something

25X 4. No improvement required

Question ID : 65497831227
Status : Answered
Chosen Option : 2

Q.17 Select the INCORRECTLY spelt word.
Ans X 1.Sensible

¥ 2. Campatable
& 3. Accessible
X 4. Feasible

Question ID : 65497831219
Status : Answered
Chosen Option : 2

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

An outgoing, socially confident person
Ans o 1. Extrovert

X 2. Introvert
25 3. Brooder
X 4. Solitary

Question ID : 65497831224
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate ANTONYM of the given word.
Deny
Ans X 1.Block
2. Prevent
" 3. Accept
X 4. Check

Question ID : 65497831217
Status : Answered
Chosen Option : 3
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Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

A study of the human body
Ans X 1. Philanthropy

X 2. Pathology
«” 3. Physiology
25 4. Philology

Question ID : 65497831218
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)

for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.s0

5 2. because
& 3.or
o 4. but

Question ID : 65497831229
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)

for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.

Ans X 1.by
X 2. with

& 3. 0of
o 4. from

Question ID : 65497831230
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)
for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1.strong

< 2. powerful

¥ 3. daring
5 4. thoughtful

Question ID : 65497831231
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)
for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans o 1. tried

5 2. trying
&3 try
#< 4. had tried

Question ID : 65497831232
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)

for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.track

" 2. route

< 3. path
< 4. road

Question ID : 65497831233
Status : Answered
Chosen Option : 2

Section : Part D Hindi
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Q.1 fafafed ¥ ¥ olx ad+t a1d 21 ®1 ugEAT-
Ans X' 1. QRN

o 2. SRIYH

X 3. I

X 4. Afad

Question ID : 65497831238
Status : Not Answered
Chosen Option : --

Q2 Sl ufoma 3 arer arw ¥ g Iuge T gm-
Ans X1.§1§3'|Tﬁ

o 2. Baer

X 3. gurd

X 4. BAD

Question ID : 65497831253
Status : Not Answered
Chosen Option : --

Q.3 fYed ®H B gff & g Te Iugad g &1 997 I
NI SAAA PTUgATqPE___ |
Ans g 1 3T
X 2. =@
X 3. 4w
X 4.3a0

Question ID : 65497831247
Status : Not Answered
Chosen Option : --

Q4 il W dledr 39 geTak $1 3a ordf f5w fawey # 82
Ans X 1. STYUTGR BT

o 2. S BT

X 3. 38T UaT AT

X 4. 9Fc § el

Question ID : 65497831235
Status : Not Answered
Chosen Option : --

Q.5 fyad wE $ gfd & e ) Suged g &1 999 B
TW_ AT g
Ans X' 1.9 dH
o 2. A S
7 3. TMa @I
X a.maH

Question ID : 65497831246
Status : Not Answered
Chosen Option : --
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Q.6 I9 Reer o1 9a7 S ot 1 R 1 geray o1 orf oraa svar -
ST F ST
Ans X 1. SIS
X 2. 9gd TR H S
o 3. BT H 3T
X 4 BEHAE

Question ID : 65497831244
Status : Not Answered
Chosen Option : —

Q.7 fou T v F faeim v &1 9= +¥)
ST
Ans X 1 gdd
X 2. faRad
X 3 fawga

4. 3G

Question ID : 65497831241
Status : Not Answered
Chosen Option : -

Q.8 iy are A Y@iiea @e & ufawuifia $3 & oY 9e9 Suged fawer @1 9g9 B3
u&sﬂuﬁwﬁaﬁ T B HARAHAT e 7, Ry et agaa i smawss @ ¥
FTIA BN

S & 3HET G et T
Ans X 1. H UM
X 2. ot SeaE @t saaddl TEl 8l
& 3. oA H
X 4.5 H|®

Question ID : 65497831234
Status : Not Answered
Chosen Option : —

Q9 mgagragmmﬁw#aﬁ%mﬁ%aﬁaawﬁﬁﬂ%

e = 3 BE @ TSI
Ans 5 1. 791
X 2 PRI TR
3. SABA DI
X 4 Regw A

Question ID : 65497831240
Status : Not Answered
Chosen Option : —
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Q.10 P g9 3 § - I/ & foe ve weg forf@u)
Ans X 1.3

X 2. DdR
o 3. T
X 4. fd feqdx

Question ID : 65497831242
Status : Not Answered
Chosen Option : —

Q.11 g T T & g te = ifA-
fo I F I B aTen
Ans 1 ddHTD
X 2. 3@
X 3. YaHfagH
X 4. 3G

Question ID : 65497831245
Status : Not Answered

Chosen Option ' —
— ——
Q.12 PR & & g ad- 9 g T Ug=iie-
Ans X 1 fa@Rl
< 2. 3itweft
X 3.9d
4. BRIR
Question ID : 65497831239
Status : Not Answered
Chosen Option : —
Q.13 3T 1Y wreg F FAFTS &1 797 B
aaa
Ans X 1 IRF
o 2. d¥dgd
X 3. 4H
X 4. 3T
Question ID : 65497831237
Status : Not Answered
Chosen Option : —
Q14 RAM I F e umazR 22
frarsit 3% wiemea & |gy -6 gul
Ans 1 Hdy
X 2. qliamha ¥
X 3.igul
X 4 fuarst R

Question ID : 65497831250
Status : Not Answered
Chosen Option : —
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Q.15 33 7 arew A Rarfed o & nfawnfia #3 F R wed Suged Rew o199 931
FHARY U J T W umn
Ans X 1 UM
X 2. WRumE
X 3. HRUm
4. A UM

Question ID : 65497831252
Status : Not Answered
Chosen Option : —

Q.16 ﬁqmmﬂmﬁﬁrmaﬁuﬁﬂnﬁaaﬂ%%ﬁqmmﬁmmmﬁl
sﬁy‘gwmwaﬁmqﬂ% A faeq et agama o smaxaear T &
PTG DY

F T 31 TIRG W BT E
Ans X 1 GHUU HR @I §
X 2. AAM IR B |
X 3. ot agama @t sfaxaddl Tel 7
o 4. T IRIW@W§

Question ID : 65497831249
Status : Not Answered
Chosen Option : —

Q.17 Raa wiF 31 gfd & fore aes Suged e &1 997 33
afm@tgE__ @
Ans 1 TUS
x 2.9
X3 9
X 4.7R

Question ID : 65497831248
Status : Not Answered
Chosen Option : —

Q18 g;_:’r‘sga;;lnag yrT g oY DA P IR 1 o P IR A R, A e R TH Y

TTeat v fagr wigen ot
Ans 1 U fagH
X 2.t
X3 oRAL TR
X 4. Hfger ot

Question ID : 65497831236
Status : Not Answered
Chosen Option : —
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Q.19 3T 1Y =g & T 2eg &1 997 BY-

qeurg

Ans 1 R
X 2.3y
X 3. Sfaw
x 4. &

Question ID : 65497831243
Status : Not Answered
Chosen Option : —

Q.20 Hferr frueT uataarh &2
Ans X 1.9d

& 2. 5ad
X 3. %@
X 43Ul

Question ID : 65497831251
Status : Not Answered
Chosen Option ' —

———

Comprehension:

i T ¢ T 7 A $© Ve gl QY MU B 1 Wald vl H Uds W & oY §ed Iugad

fameu o1 9gT B
(1) P ged 1 & fou g8 Fafia (2) B AfgT | Y (3) & faw g

W, Giel, IeH, e 3R (4) @MUl 3idud gd 9t &I fdener # gHard (5)
T YPT o ARt

SubQuestion No : 21
Q.21 T & fYad ®IF (1) ¥ fore weifie Suged wee 8-
Ans X 1.dH

2. R
X 3.URAR

X4ed

Question ID : 65497831255
Status : Not Answered
Chosen Option : —

Comprehension:

i U 71T T # U 9 Wek gl QU U § 1 alid Ul # UdD G & Y Hel Jugad

fameg o1 TgT B
(1)__ DygdEH G ougHFafde)  sidlugeR(3) & faugH
", agm ag%%mamm) I1ieu| 3fqud gH W & faeerat @ giHard (5)

AT I

SubQuestion No : 22
Q.22 e & Y R (2) % fore waifue Suge o= gm-
Ans X 1. HINU] HAT

X 2.2
X 3. M
& 4. A

Question ID : 65497831256
Status : Not Answered
Chosen Option : —
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Comprehension:

i U 71T T # U 9 Wk gl QU Y § 1 Held vl H UdS §8 & Y Hel Sugad
faweg o1 g B

1) oiygdsTH & fougd Fafd () dArdaifeul gar (3) & fougd
Qe ale- a§,=n aaa;la%qmshzm) _ 1igu) 3fquq gH 9 &) faererat # giRard (5)
AT I

SubQuestion No : 23
Q.23 TR & e wIF (3) ¥ fore walfte Iugea W 8-
Ans X 1 &R
X 2. dER
¢ 3. @
X 4. 99w

—~

Question ID : 65497831257
Status : Not Answered
Chosen Option : —

Comprehension:

i T Y T 7 A $© Ve el QT ML B 1 Wafd vl H uds W & oy el Iugad

fadeu o1 IgT B
(1)___ DiggdeH & fugh a2 aswalRugeR ) o fausd
W, eI, 9o, PeT iR (4)_ @IieU| 3idud gH @ ol el A giard (5)

F R o AR

SubQuestion No : 24
Q.24 e & Raa I (4) F g waifie Suge weg g
Ans X 1 Ugdr
o 2.5
P SERICRICH
X 4.3

Question ID : 65497831258
Status : Not Answered
Chosen Option : —

Comprehension:

i o 1T T 7 U 9 e gel AU U 71 Galid Ul # UdD G & Y Yel Jugad

famea o1 IgT B
(1) DYGAE D OUgH Hafd () didieuligax(3) b faugH
QoM. ale- a§,‘rn atﬂragqmsmm) _ =ifeul 3fquq g9 it @ fqereral # giHard (5)

HRT AT |

SubQuestion No : 25
Q.25 ey & fyaa ®I (5) ¥ forg waifue Suge =g Em-
Ans X 1. §iqEd #

X 2. WA
3. 9al
X 4. TEH

Question ID : 65497831259
Status : Not Answered
Chosen Option : —
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